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: This paper contains Seventy five (75) multiple-choice/assertion/reasoning/

matching questions. Each question carrying TWO (2) marks. Attempt All

the questions.

2L us oAl dAldR (o) eglsadly wadl, W wlig wA ASsl st el

S, A Hadidl Fal avdldl §. Uds w6 (1) o .

In the analysis of economic

environment there are certain

economies which are in the
transition from centralized
economic system to market

economy. They are referred to

as :
(A) Transitory economies
(B) Transition economies
(C) Developing economies
(D) Open economies

Who presides over the National

Development Council ?

(A} The Chairman of the Planning

Commission

(B) The Secretary of National

Development Council

(C) The

Central Government

Finance Minister of

(D) The Prime Minister of India
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3. Which of the following statements

is correct ?

(A) A legal protection granted for
an invention that is new, non-
obvious and useful is called a

trade mark

(B} Trade and Merchandize Marks
Act, 1958 was first implemented
in Gujarat

(C) Trademark Act was made

in 1997

(D} A part of Brand which can be
recognized but is not utterable

1s called a Brand-mark

4. Which one of the following is

correct ?

(A) The MRTP Act, 1969
was replaced by Competition
Act, 2010

(B) The MRTP Commission was
replaced by Competition
Commission

(Cy The New MRTP Act took
the place of Competition
Commission

(D) Competition Policy and the
EXIM Policy are almost

same
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5 In globalization the ...................... is 5 dxflsyani QT M MY s
a very common strategy of entering o As wWHy WU
into foreign market.

UL B :

() Licengeia (A) adula

(B) Management designs ] 3
(B) Jdwd« 3uIvitall

(C) IJoint—ventures .
(C) dYsd HisA

(D) Manufacturing
| (D) GcwigA

6. Assets in the balance sheet of a
. 6. Lurllvu s HAAWHE vIREUHAA sUL
company are arranged in the order

L Alsqami »0d ¢ :

of :

(A) WIS BHa
(A) Book value

(B) Mausal
(B) Liquidity

(C) Wraclcll
(C) Permanence

(D) “WYA

(D) Market value
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Profit and Loss account shows

the :

(A} Financial results of the concern

for a period

(B) Financial position of the

concern on a particular date

(C) Financial position of the

concern for a period

()} Financizal results of a concern

on a particular date

After reissue of forfeited shares, the
surplus in the Forfeited Shares

Alc is transferred to :

(A) General Reserve Alc

(B) Reserves and Surplus Ale

(C) Profit and Loss Alc

(D) Capital Reserve Alc
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Match the following :

In case of purchase method of

amalgamation.

If fair value (@) The double

of net assets entry is completed
is more than by opening the
the amount of amalgamation
purchase adjustment
consideration Account

If purchase (») The difference is
consideration credited to capital

is in excess of reserve account
value of net assets
Ifstatutory reserves (¢) The difference

are required to is debited to

maintain their goodwill account
identity
Codes :
@ an b
@ 6 © @
® © ® @
© @ & ©
D © @ ®
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10. Who is interested in master

budget ?

(A) Lower-level management

(B) Top management

(C) Middle-level management
(D) Functional heads
11. Find the correct matching of the

items of List I with the items of

List II.
List 1
{2) Normal profit

() Economic profit

(¢) Accounting profit (i)

Codes :

@ G
(A) © (@
(B) ) (a)
(C) (@ (&

D @ ()
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List II

Excess of total
revenue over
total explicit
cost

Total revenue
equals total cost
Excess of total
revenue over
total of explicit
and implicit costs
and a normal rate

of return
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12. Who gave the behavioristic

explanation of consumers’ demand :
{(A) Alfred‘ Marshall

(B) J.R. Hicks

(C) Paul Samuelson

(D) Edgeworth

13. In a production it was found that
pl:oduction changed by 16% when
all the inputs'were changed by

3.6%. The output elasticity is :
(A) 4.2
(B) 1.4
(C) 4.6

D) 4.8

Commerce-III

12.

13.

Guediseldl #idL M2 51 adnael

Wl ?

(A) vads H;a[a
(B) %. »u. (854
(C) via Ayddu-
(D) e

A% Geule Velami 16% ol atii vl

w13 ALl 3.6% ol awul, Aetw

A @

(A) 42

(B) 44

(C) 46

(D) 4.8

[P.T.0.]




14.

15.

Internal economies accruing to a

firin do not include :

(A) Financial economies

(B} Managerial economies

(C) Economies of superior

technique

(D) Economies of location

During the short-run the optimum
level of output corresponds to that

level of output, where :

(A) Marginal cost is minimum

(B) Average variable cost is

minimum

(C) Average cost is minimum

(D) Average fixed cost stops

declining
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16.

17.

Which one of the following is not

a method of collecting primary

data ?

(A). Schedules and Questionnaires

(B) Direct Personal Investigations

(C) Computerised databases

(D) Projective Techniques

Which one of the following is non-

probability sampling technique ?

(A} Random sampling

{B) Snow Ball sampling

(C) Stratified sampling

(D) Sequential sampling
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18. Match the following :
(@) Association between (a) F-test
attributes
(i) Large samples (b) t-test
(i) Small samples () x>-test
(iv) More than two
sample means (d) z-test
Codes :
@ @ © (@
A (o) @ @ &
B) &) @) @) )
©) Go) G ) @

D) Gy @ G @
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19. Karl Pearson’s coefficient of
correlation between two variables X

and Y can be caleulated by :

(A) Co-variance between the
variables divided by the
product of their standard

deviations and N

(B) Co-variance between the
variables multiplied by the
product of their standard

deviations

(C) The product of the standard
deviations of the variables
divided by the product of total
deviations of X-variable and
total deviations of Y-variable
taken from their respective

averages

(D) Co-variance between the
variables divided by the
product of their arithmetic
averages
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- 20.

21,

Which one of the following is not
a positive characteristic of a

computer ?

(A) Speed

(B) Versatility

(C) Accuracy

(D} Vulnerability of stored data

Assertion (A) : Management is a

continuous process

Reason (R) : Managers first plan,
then organise and finally perform

the function of controlling
Codes :

(A} Both (A)and (R) are correct and
(R} is correct explanation of (A)

(B) Both (A) and (R) are correct, but
(R) is not a correct explanation

of (A)

(C} (A) is correct, but (R) is

incorrect

D) (A) is incorrect, but (R) is

correct

Commerce-II1

20.

21.

14

- = = .

el U4l 5y 215 s eslUMS

deal -yl :

Ay Al

B) uddiyul ulaew
(SRENEETE)

M) dnuled Wl sadl

[Qat (A) : AAldt 2 Add 0aa-l

uBuL .

SRR (R) : Audsl udal diw-i 53

8, utdl dlisqsl 53 B i1 Bed R

s53dlg s1id 52 9.

$iS

(A) (A) ¥ (R) 6l AR & A (R)
(A) Il w0l unygla &

(B) (A) »i1 (R) oA 42U 8 L (R)

(A) -l fl axgdl el
(C) (A) WA B s (R) W Al

D) (A) wA el we Ry wa &



I

22,

......................... has developed the
technique of ‘Management By

Exception’.

(A) Peter F. Drucker
{B) Henry Fayol

(C) F.W. Taylor |
M) L.F. Urwick

Which one of the following is called

‘Management by results’ ?
(A) Management By Objectives

(B) Management By Exception

~ (C) Management By Walking

around

(D) Manage scientifically
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24. “Leaders are born not made”, refers

to
(A) Great-man-approach of
managing
(B) Great-man-approach of
leadership
(C) Trait-approach of motivation
(D) Autocratic-approach of
leadership
25. Ethies provide :
(A) Consumer Autonomy
(B) Corporate Social Responsibility
(C) Justice
(D} All of the above
26. Functions of marketing

management consists :

(A} Determination of the marketing
objects

(B) Marketing Planning
(C) Marketing Organisation

(D) All of the above
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27.

28.

29,

Which of the following is not true

about publicity ?

(A) It is done through mass media
(B) Itis one way of communication
(C) Tt is paid form of propaganda
(D) It is non-personal in nature

Which of the following is not a base

for segmenting consumer markets ?
(A) Occupation

(B) Education

(C) Quality

(D) Social class

Which of the following does not

belong to marketing concept ?
(A) Product concept

(B) Production concept

(C) Services concept

(D) Social marketing concept
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30. Itis a set of procedures and sources

31.

that managers use to obtain

everyday information about

developments in the marketing

environment. It is called as :

(A) A Marketing Information

System
(B) A Marketing Research System

(C) A Marketing Intelligence

System
(D) An Internal Record system

According to MM Proposition, in the
presence of corporate tax, the

optimal capital structure would

(A) Equity
(B} Debt
{C) Bonds

(D) Debentures
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32

33.

An approximation formula for

calculating cost of debenture is :

457

(A) K, = —[F_"_T
11 —1) * [F —P—]
B) K, = - =
5
"L
© X, = —G7R)
=t ] i1 —t} +[F;PJ-

If the Net Present Value for a

project is negative, then :

"~ (A) IRR = Cost of capital

(B) IRR < Cost of capital
(C) IRR > Cost of capital

(D) BCR =1

Commerce-II1

32.

33.

[Bo-aualdl usd 2LRdlL Hied dAMdL
YA 8
I +{ F; P.Il
(A) Kq‘ — [. F. - P_] s
F-P
{1 =t) +|~
(B) K, = ,,Fig“ ]
1
| +[F i E]
©) K, = —{FIF;}
{1 —1t) + £22
D) K, = : EF+E‘:~]B ]
R i uRHsu Alvy adu yed

el ¢l dl :

(A) TRR = ¥8l-l usd:
(B) IRR < 38l usd:
(C) IRR > {8l 4sdl

(D) BCR =1
[P.T.O.]




34.

36.

Baumal’s Cash Management Model  34.

attempts to minimize :
(A) Holding costs

(B) Transaction costs
(C) Cash balances

(D) Total costs

35.
- Who developed one of the earliest

models linking the value of the firm

to its dividend policy ?
(A) Walter
(B) Gorden
(C) Miller

(D) Modigliani

J6,

Recruitment means :

(A} Conducting interview

(B) Selecting fresh candidate
(C) Attracting candidates for job

(D) Appointing a new person
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37.

38. Which one of the following roles of

39.

The appraisal process is designed by

the :

(A) Sales Department

(B} Finance Department
(C} Personnel Department

(D} Marketing Department

HRM iz really strategic in nature ?
(A) Policy maker

(B) Change agent

(C) Administrative expert

(D) Fire fighter

Which model of HRM highlights the

interest ;Of all the stackholders ?
(A) Harvard model

(B} Warwick model

(C) Storey model

(D) Legge’s model
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40. Which of the following Acts does

41.

not provide social security to the

worker ?

(A) Minimum Wages Act

(B) The Payment of Gratuity
Act

(C) The Workers’ Compensation

Act

(D) The Employee’s  State

Insurance Act

Schedule-3 of the Banking Act is

related to :
(A) Borrowings
(B) Capital
(C) Deposits

(D) All of the above
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40.

A gl syl s188l stHelRiq

AMPrs ddindl Y3l wsdl st ?
(A) dgam dd- sl

(B) alagﬁél ysaell a1

(©) s and2 H.ﬁ‘l

M st e da dz-u wll
dl3aL 221 Asy4 3
Hoilld & :

(A) Gesl=l Ag

(B) #sl

(€) uu

D) Gua-l oEl o



42.

44,

The First Narastmham Committee

brought about :

(A) De-regulation of interest rates

(B) De-regulation of borrowing

{C) De-regulation of management

of banks

(D) of bank

De-regulation

customers
Electronic Banking requires :

(A) Firewalls
systems

and operating

(B) Codes and confidence
(C) Electrons and passwords
(D) Networks only

The Reserve Bank of India has

evolved the following model for

rating of Indian Banks ;
(A) GAAP

(B) XBRL

(C) CAMELS

(D) BANCASSURANCE
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42.

43.

44,

e ARy s gy

(A) 9 el wREs

(B) Gl daid AM=10

(C) olsivi AAa-id 2FREAR

D) dsi-l Alesiv AMYAR
dsasdls olsloi w3l & ¢

(A) SERAld 20 WRAa yghi-l
(B) Aitas eumt vt ¢RI
(C) SAs2i-u A Aidls woeidl
D) §5d wa-l

eudla Gl yeuisd W2 onrdla

s syl
(A) GAAP
(B) XBRL
(C) CAMELS

(D) s
[P.T.0.]




45,

46.

IDBI Bank was constituted

through a :

(A) Merger

(B) Reverse merger

(C) Take-over

(D) Acquisition

Ethnocentric firms are those whose
orientation is :

(A) Compatible with host country

marketing

{B) Compatible with home cuuntrj

marketing

(C) Compatible with no specific
country

(D) Compatible with a region
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e L,

45.

46.

IDBI 65+l 2aiu-l ,......
(A) il

B) [Auld Auix-

(C) ufast dadl

M) Guer-el

Hirgala 2(+ad Ul ol 8 9+l

FAITCTE

(A) YrHid el woalsae o8

o
B) A suu amlse B Adid 9

(@ S s APy 2l AL v

2l

D) -ﬂs &l WS WAd B




47, Domestic currency depreciates

49.

when :

(A)
(B)

()

(D)

There is an inflation
There 1s deflation

When domestic inflation  is

higher than foreign inflation

When domestic money supply

is less

The Andean Pact belongs to which

level of regional economic

integration ?

(A)
(B}
(€

D)

Free Trade Area
Customs Union
Common Market

Economie Union

Capital Account convertibility will

affect :

(A)

Repatriation of profits by MNC

(B) Value of India’s exports

{C) Value of India’s imports

(D)

India’s current account balance
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47,

48.

49.

gl Ysld  wayeud wiu o

U TR

(4)
(B)

©

(D)

sodl el
goUdIH HelSl ¢id

Wl gondl Rze- goudl

53dl 4413 8ly

gl «eudl yld gl sy

VirSlur, Wbz 2 8ofly olsls2rivl suL
g oL 9 ?

(A)
(B)
(83
(D)

3ol

3l :

(A)

(B)
(C)

(D)

Yid QUIR 8l
Fsld UY
UMY, o0
wIlEs Ade

il WRadAdladidl ;a2

W, vhe, ] LR LSl U

By
eideAl sl e Gyl
SLdrAl HidldHl Y 8uR

AL ALY, vl Mgl Gur
[P.T.0.]



50. Match the following : 50. 43y s :

Part A -  Part B U S

WTO Ministerial  Held in WIO U RRedne  dlwddl

slegd -y %y
Conferences 183 4
(w) MaH (1) %l
(w) First (1) Geneva
x) [addly @) Riduyr
(x) Second (2} Singapore
o) qdlu (3) elel, sdiR
(¥ Third (3) Doha, Qatar
() ugd (4) Rvzy,
(z} Fourth (4) Seattle, USA
' Y .,
Codes :
. .ﬁS :
w) @ @) (@

w & & @

A) ), @, O),
@, @ @ @ @ W, @, &, @

B) @, M @, B ® @, A, @, @
© @, 2, @), (1 © @, @, 3, Q1)

@M ), @), @), @ DA, @, @ 3
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ol.

52

In an inflationary period, additional
depreciation is required to be
charged to cover the backlog of
depreciation of the gross current
replacement cost of the assets that
increase every year when accounts

are prepared as per :
(A) Cash system

(B) Current Cost Accounting

Method

(C) Current Purchasing Power

method

(1) Mercantile system

Which of the following is the oldest

formn of a derivative contract ?
(A) Futures

(B) Forwards

(C) Options

(D) Swaps
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51.

52

Solleli-l WML Birs ]l 512l
ALY Yris UYL USAR ¥ 81 9 ad
6, defl olflrl Barzl, dELRLAL BALRL
A3 Guiradi WA & FAUR [Bwe
A TIRTEY T N DTE R DT D

(A) 55 ugld

(B) wly usdr Rl uald

©) Alg wle uld ugla

O Awdl well

A1 U4l sy §ld2la s gudHl
>d 3N B

4) sy
(B) FlRASY,
<

WA,

(D) €Y,

(P.T.0.]




54.

----------------------

was set-up by RBI to
deepen and activate Indian Money

Market.

(A) State Trading Corporation of

India

(B) Discount and Finance House

of India

(C) Both of the above

(D) None of the above

Paying an excessive price for the

acquisition is called :

(A) Hubris spirit

(B) Megalomania

(C) Winner’s curse

(D} Green mail
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53, eudly il oA Glg dut ugfasy

B

534l M2 R .ofl. 208, g1

UM S0 e,
(A) ®2 2B siwfInqd »ls Skhsw

(B) [ZR582 25 Belled), Q16U viis

Sl=syt
(C) GuRisd i
M GuRisd S Al
Wlid w2 2fs Bud ygaan s
) :
A) gl BuRe
(B) AR
(o) I CLE Y

M A+ Asa



55. Which of the following is rot an

accounting software ?
(A) TALLY

(B} WINCA

(C) EX

(D) BANCO -

. In which of:the following concepts
the marketers identify the hierachy
of. attributes which guides the
consumey decision-making in order
to understand different competitive
forces and its formation ?

(A) Market Myopia

(B) Market Partioning

(C) Marketing Myopia

(D) Meta Markets
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56.

A T8 sy [Raell Wised
"l ?

(A) TALLY

(B) WINCA

(C) EX

(D) BANCO

A1 A4 56 [Ruuell s sid
s3-UR aaeti-l eirual a8, §
an ss (Aela nBu w@d [@Qfag
AN S[R& Wl A At ©SdR
@ awled >0 & :

(A) o wn [Rsedl

(B) o (Aeuy+

(© oo ufFuL (Rusedl

D) w2AUd 913

[P.T.0.]}
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97. The practice of tailoring products
and marketing programmes to the
needs and wants of specific
individuals and local customer

groups is called as :

(A) Market Targeting
(B) Target Marketing
(C) Integrated Marketing
(D) Miecro Marketing

58. Companies using call centers for

receiving calls from customers is

described by the following :
(A) In-bound Tele-marketing
(B) Out-bound Tele-marketing
(C) Advertising

(D) In-bound and out-bounding

tele-marketing
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57,

b8.

Alssu AlRdAd 2 20 sl
34 2 S AR AL 247
o sidsHl Y[ wsadl uala

e2q :

(A) omR eryilBa s3q
(B) && @«

(C) yauld o

D) Y wm (ay o)

su-lall 2 Alesi wAYl sien
Roaal, sig-A-2x-l Guaiol £ 8, A
aeldl sy

Wid-ARA (Si-oB-5) 2[&-

STEAEET

(A)

o&-A A (21B2-61Gvs) 2.

STEEST)

(B)

(C) Adud uFw

AHid A WA cus-u@Ad &

W32

(D)




59.

60.

Which of the following is not the

stage of product cycle ?
(A) Intreduction

(B} Growth

"{C) Market segmeéntation

(D) Decline

Marketing ie a human activity -

directed at satisfying needs and
wants through exchange process, is

the statement of :
(&) Cund.iff and Still
(BY Kenneth Andrew
(C} Philip Kotler

(D) Kishwar S. Kan
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89.

60.

Yelyl A sl RQeudt di

aadl 1241 14 56 eusd & ?
(A) Hdu

B) [Rswjgla

(C) o [Aeuw-

(D) usdl

‘ogy aGuL A Ay ugl B, %
AR g ssd 73U w1
H29 AN 7 21 R A+ U4
sid & ?

(A) $Sls w Hle

(B) sl gy

© Bl siear

(D) £ra3 AU, si4
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‘ 61.

62.

63.

Audits of non-managers is called :
(A) HR. Audit

(B) Managemeht Inventories

(C) Skill Inventories

(D) Human Resource Inventories

The best way of recruiting is

always :

(A) Walk-in

(B) Referrals

(C) Advertisement
(1Y) Variables

Identify from the following, the type
of change that occurs after external
forces have already affected the

performance :

(A) Proactive change
(B) Reacting change
(C) Responsive change

(D) Freezing chahge

‘ Commerce—-IIT
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6l HAlds 1 eiy dal

62.

63.

3

SHENE
(sl 20) L iz sy :
(A) Midg daEand e

A Aol -3l Aue
(S-a=e)

wta5d Heldl gl A
(Srarel)

Wea dA1YA el Ma-nnsil
Ang (SA-l)

Madl s3q-i S i €3

(B)

(CY

D)

.....

-

9

(A) dis-S

By FERA ezl
(C) AdUd

D) (Alaa adl gl

oil8 XUl gLl AUA Yda
S0 uRadq-di usiz (A

34 siawl :
(A) »inasll yRad+
(B) ulalEuiets yRads
uRewarems uladn

Wa—uada  (uRad«-l
#BiddL)

(&)
D)




64.

65.

66.

Performance appraisal is a part of

the following :

(A) Career Development
(B) Career Training
(C} Career Upgradation
(D) Career Welding

Which is the simulation of the
administrative tasks of a manager

job ?

(A) Role play

(B) In-basket

(C) Discussion group
(D) Interview

EXIM bank extends line of credit

to the following except :
(A) Foreign Government
(B) Foreign Government Agencies
(C) Foreign Financial Institution

(D) Foreign Companies
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64.

65.

66.

50 euis DA WL w5+ sl
& :

(A s3] [asx

(B) S0EEL diein

(©) uet~ild W2 5203

M) s A=

AatasHl sl adladl sif-u
pigan LA U4 s34 agy vgud
quq o 7

(A) o3 oagae(l

(B) 2qHl g (Sq-s132)
©) wul-ays

(D) Aldold Haisid

AsAH ols Auigll eeA w208
93 Rau i

(A) [gall um2
(B) A2l a5l A2
(C) Rl Aeigly qal

@ [R2 syl

[P.T.O.]



67.

68.

To be eligible as MNC a firm
should have over its foreign

affiliates :
(A) ownership only

(B)

control only

(<

either ownership or control

(D) neither ownership nor control

18 needed

The aim of foreign exchange risk

management is to :
(A) Maximize profits

(B) Earn a minimum level of

profit
(C) Minimize losses

(D} Know with certainty the future

cash flows
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68.

A5 vl A AL Fd Yivyal 9taal
Y2 s UL ddod [agsl Asu

GuR :

(A) $5d gl gldl AsA

(B) #5d [ds@ gldl A

(©) A vua Rs sial AsA

@ MRS v Feise o3Rwd

-yl
[@ell [AfAuy Auy duaddg GRa
9 :
(A) & AR5 s
(B) +yridy «isidl swuell sl
(C) d5AL Yridd 54l

(D) oilQw RAsS Hated FBad 31

stld Uit S3dl ML




69.

70.

A speculator is bullish about index
nifty which stands at Bs. 1,150. He
decides to buy one three month
nifty call option contract (havihg a
market lot of 200) with strike price
of Rs. 1,210 at a premium of Rs. 15
per call. Three months later the
index closes at Rs. 1,245. His profit

(or loss) on the position is :
(A) Loss of Rs. 9,000

(B) Profit of Rs. 9,000

(C) Profit of Rs. 3,000

(D) Profit of Rs. 4,000

Under the Bretton Woods system
the only currency that remained

convertible into Gold was :
(A) The British Pound
(B) US Dollar

(C) Japanese Yen

(D) Chinese Yuan
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69. w5 [Mausiz ¥ Msdl $-8su e

d-l uAlL VL § N S-S WF
3. 1940 AL eid 8. 3 [(ARdasi?
ARl H[3-ld s [Rsd sia via
(%L o212 G2 300 B) 3L. 110
RI0E Hed Y wdleald sd 52 9,
= Gu Uk x4 3. 14 Bliun 8.
AR M3l ugdl 20 55U 31 AW
YR ol Wy 8. W FHAusir-dl aw
(aar qsm) 2 WREAA wR
9

(A) 3. 00O -l sl

(B) 3l. «00O0 i a®i
(C) 3L. 3000 -l ™

(D) 3l. ¥OO0O -l &M

. ded g4sd uelaui & ya Al-uml

yRaddly el A udl :
(A [BRa Ji-s

(B) y.¥d. Sl

© °d"'-ll.'{|.~ A,

D AL yaunt
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72.

71.

To be resident of India, the
individual coming from abroad
during previous year for the first
time has to remain present in India

for minimum :
(A) 182 days
(B) 60 days
(C) 90 days
(D) 180 days

Expenses incurred by the existing
concern after commencement of
business on raising long-term loan
is :
(A)

Preliminary expenses under

Section 35D

(B) Interest and financial charges

under Section 36 (1) (iif)

(C) General expense wunder

Section 37(1)

(I)) None of the above
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¥ q{$d, wesel arl s, (@2 e
LIl MUMHAUR D £, Al Gld-il
Fuull 2l W2 ol i st

........ Ban we @w: eq us :
(A} 1¢r [Rax
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73. Where a partner transfers any

capital asset into the business
of firm, the sale consideration
of such asset to the partner shall

be :

(A) Market value of such asset on

the date of such transfer

(B) Value at which it was recorded

in the books of the firm

(C) Cost at which the asset was
originally acquired by the

partner

(D) Cost at which the asset was
originally acquired by the
partner with adjustment of cost

inflation index
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73. g s oudlelr, s ysbod

U, Wl g el 52 8
clld eudlelna Mol il HREUIMdT]

e HA% B :

(A) otgell-l [2ad 2L viRsUMd] A2

yey

B % e Al Al ALuS -ia 48

(€ % usdadl eud(lell

UMl Andl edl
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2
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74. Qjas Ltd. established in Himachal

Pradesh, commences its operations
on 1-1-2012 and produces the article
prescribed in the Fourteenth
schedule. The undertaking will be

entitled for the deduction of :

(A) 100% of profits for a period of
10 years commencing from

initial assessment year

(B) 100% of profits for a period of
5 years commencing from
initial assessment year and

30% of profits for next 5 years

(C) 30% of profits for a period of 10
years commencing from initial

assessment year

(D) 25% of profits for a period of 10
years commencing from initial

assessment year

Commerce-I11

38

74. wiow M2s 7 Ruyd utai

wWydd 8 d 1-1—201% -l AU
siyilFad 2dd 8, - Ty L [Asyanl
[RERId axguild Geus 53 8. w1

WsH s R wsd D

(A) nii[ﬁ_w istell asell g 531

10 ad Yl 100% st M2
(B) wmlBis wusirell avll g 5<1

Yoo W2 100% sl W2 A,

Yl W ad M2 309% 8L Hi2

(C) MI[Hs 2uszell avell g 531

90 q¥ W2 30% «51 M2
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75. Match the following :

() Retain or Replace

(i)

Make or buy

(i) Lease or buy

(v

Codes :

@)
(A) (a)
(B) &
(C) ©
D) @

Commerce-I1I

i2)
(&)
)
(@)
@

(a}

b

)

Invest or disinvest (d)

Lease rentals,
cost incurred and
deductibility
Disposal value,
Purchase price
and rate of
depreciation
Inflows (Capital
and Revenue} and
deductibility or
chargeability of
inflows or
outflows (Actual
or Noticnal)
Cost incurred
{capital or
revenue) and

deductibility

@) ()
) ()
@ {0
@ &)
{(a) (&)

39

75.

(&)

@

A qaal

mg & eledd

oi«lag ¥ wleg

G Musivg Agd

Gv)

wileq

FMdw 3 BRde @

$is :

(a)

(b}

(e}

SISIEL UG,

USA 2
SYlAvLAdL

[fsiayey,
wile Bad

i, SAL AL
£

e
2 541) BlidR

Helld ddll
SYldWAcdL

wiyal (ArRdEs
myY! s1eulAs
BidI NS

2wyl
oltanale-lt

53 WAL
(3Slotel 2y
wilasl) uSa
dfll SuLc MLl

()
(A) (a)
(B) &
(C) ©
D) ()

(ii)
(&)
(d)
(@)
()

(i) Gv)
€ (d)
@ (e}

d) ®)
(@) (b)
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ROUGH WORK
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